Warm up Problems
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N Second FTOC
F(x) = f f'(t)dt s called an integral function.

F'(x) = f(x)




EX. Let F(x):j e~ tdt F,X)iﬁj*"t{’{
3
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a) Find F(5)

-S
b) Find F'(5) = e~ = .03

c) Find avalue of x where F(x) = 0 @

d) Find F"(5)° ~°’
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EX. Let f be the continuous function whose graph is shown.
Let g be the function g(x) = [ f(t)dt

a) Find g(Z) and g(—2).
g0)= St = ~300(2) 77 -

Sy - [HAM mt»a‘-- R
b) Find g'(— 3) and g"'(—3). (7& —F(x) J (x) f/x)
) ﬂ(d) - f(3)=2 ki "(3)- F13)= |




9(x) = jf(t)dt [3 f

1
c¢) Find the x-coord. of each point where g has a horiz. tangent

line. Classify each pom jnd 1ust|fy your answer.
x= 1 — neith er, se5n cress x-axis

| — lacalwﬂ —F qses gos. fo neJ
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d) Find the x-coord. of each point where g has an inflection pt
and justify your answer.
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Graph of f



Unit 6 Progress Check: MCQ Part A
Do #1-4,8-12
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